








The distance from point T to point S, which is in its south, is 9 meters. The distance from point X to 

point W, which is in its north, is 4 meters. The distance from point V to point U, which is in its north, 

is 5 meters. The distance between point W and point V is 15 meters and point V is in its west. The 

distance between point Y and the point W, where W is in its south, is 5 meters. T is 4 m west of Y.

ब िंदु T, से ब िंदु S तक दूरी, जो दबिण में 9 मीटर है। ब िंदु X से ब िंदु W तक की दूरी, जो उत्तर में है, 4 मीटर है। ब िंदु V से 

ब िंदु U की दूरी, जो उत्तर में है, 5 मीटर है। ब िंदु W और ब िंदु V के  ीच की दूरी 15 मीटर है और ब िंदु V इसके पबिम में है। 

ब िंदु Y और ब िंदु W के  ीच की दूरी, जह िं W दबिण में है, 5 मीटर है। T, Y के 4 मीटर पबिम में है। 

What is the distance between points U and Y?

ब िंदु U और Y के  ीच की दूरी क्य  है?

(1) 7 meters

(2) 9 meters

(3) 11 meters

(4) 15 meters

(5) None of these



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

Which of the following number will be seventh to the right 
of tenth number from the left? 

निम्िनिनित में से कौि-सी संख्या बायें से दसवीं संख्या के दायें से सातवीं 
होगी?

1. 1 

2. 5 

3. 3 

4. 6 

5. 7



4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

If all the even numbers are dropped, which number will be ninth to the 
left of fifteenth number from the left? 

यनद सभी सम संख्याओ ंको हटा नदया जाए, तो कौि सी संख्या बाई ंओर से पंद्रहवीं संख्या 
के बाई ंओर िौवीं होगी?

1. 1

2. 3 

3. 5 

4. 7 

5. 9



Which of the following explanation true? 

L ≤ O > V = E ≥ S

1) L ≤ V
2) O = E
3) O > S
4) S ≥ L



Which of the following explanation true? 

B > E ≤ A = T ≥ S

1) B > S
2) E = T
3) E < T
4) E ≤ S



Which of the following explanation is true? 

M = O < N = K ≤ S

1) M = S

2) O < S

3) N > S

4) O = K



Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 

कथि: 

कुछ N, G हैं। 

सभी G, T हैं। 

निष्कर्ष: 

I. सभी N के T होिे की संभाविा ह।ै

II. कुछ T, G हैं।



Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 



Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.

कथि: 

कोई कैप स्टूि िहीं ह।ै 

कुछ स्टूि टेबि हैं। 

निष्कर्ष: 

I. कुछ टेबि कैप िहीं हैं। 

II. सभी कैप के टेबि होिे की 

संभाविा ह।ै



Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.



Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.

कथि: 

केवि कुछ घऩियााँ इिेनरिक हैं

कोई घऩियााँ ररंग िहीं हैं 

निष्कर्ष: 

I. कुछ इिेनरिक ररंग हैं 

II. कुछ इिेनरिक कभी ररंग िहीं हो

सकते।



Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.



In a certain code language, ANIMATION is written as 

UJPODYLGK, then how is AUSTRALIA written in same code 

language?

एक बिबित कूट भ ष  में, ANIMATION को UJPODYLGK के रूप में 

बिख  ज त  है, बिर AUSTRALIA को उसी कूट भ ष  में कैसे बिख  ज येग  

?

(1) BMJBUYRQS

(2) YLGKDUJPO

(3) BMJBUYSQR

(4) ZUTNFMHRT

(5) None of these



In a certain code language, ASSOCHAM is written as 

KGGYOATY, then how is SURGERIE written in same code 

language?

एक बिबित कूट भ ष  में, ASSOCHAM को KGGYOATY के रूप में बिख  

गय  है, तो SURGERIE को उसी कूट भ ष  में कैसे बिख ज येग  ?

(1) GEHSWJSW

(2) SHEGWRIW

(3) SEHGWJSW

(4) SHEGWSJW

(5) None of these



In a certain code language, LEADING is written as MDZEHOH, 

then how is TRAINEE written in same code language?

एक बिबित कूट भ ष  में, LEADING को MDZEHOH के रूप में बिख  गय  

है, तो TRAINEE को उसी कूट भ ष  में कैसे बिख  ज येग  ?

(1) UZQJMFF

(2) UQBHODF

(3) USZHODF

(4) USZHODD

(5) None of these



Type of Puzzle :-

• Box based puzzles 

• Floor/lift based puzzles

• Day/ Month/ Year based puzzles

• Age based puzzles

• Puzzles based on  categorization.

• Puzzles based on comparison. (Based on height, color, marks, ages and Seating 

arrangement etc) 

• Puzzles based on Blood Relation.

• Designation based (salary, experience etc)



Type of Sitting Arragement

•Circular Arrangement

•Linear Arrangement 

•Triangular Arrangement

•Square Base

•Rectangle Base

•Uncertain person Base

•Double circle or Double Square Base 



Here some Conjunction is also used instead of name of candidate. In that case:

If AND/BUT is used then subject of the previous sentence (name of 

first candidate) will be used.

यबद ‘और / िेबकि’ क  उपयोग बकय  ज त  है तो प्रथम व क्य (प्रथम उम्मीदव र क  

ि म) के बवषय क  उपयोग बकय  ज एग ।



If WHO/ WHOM / WHOSE / WHICH is used then object of the previous 

sentence (name of second candidate) will be used.

यबद ‘जो / बजसको / बजसक ’ क  उपयोग बकय  ज त  है तो बपछिी व क्य (दूसरे उम्मीदव र क  

ि म) के बवषय क  उपयोग बकय  ज एग ।



Important points to Start the puzzle

•Gap

•Negative 

•Double / Triple

• Immediate

•Only 



There are certain number of persons sitting in a row facing towards north 

direction. A sits fifth to the right of B. Two persons sit between C and B. D sits 

fourth to the left of C. Four persons sit to the left of D. The number of persons 

sit between D and B is same as the number of persons sit between B and F. F 

sits at fourth position from one of the extreme ends. 

एक पंनि में निनित संख्या में व्यनि उत्तर नदशा की ओर उन्मिु होकर बैठे हैं। A, B के दायें से

पांचवें स्थाि पर बैठा ह।ै C और B के बीच दो व्यनि बैठे हैं। D, C के बायें से चौथे स्थाि पर बैठा

ह।ै D के बायीं ओर चार व्यनि बैठे हैं। D और B के बीच बैठिे वािे व्यनियों की संख्या समाि ह ै

व्यनि B और F के बीच में बैठते हैं। F नकसी एक अंनतम छोर से चौथे स्थाि पर बैठता ह।ै



There are certain number of persons sitting in a row facing towards north 

direction. A sits fifth to the right of B. Two persons sit between C and B. D sits 

fourth to the left of C. Four persons sit to the left of D. The number of persons 

sit between D and B is same as the number of persons sit between B and F. F 

sits at fourth position from one of the extreme ends. 



Six people P, Q, R, S, T and U have events on different dates 7th and 12th of 

different months i.e. January, February and March. D has event on even 

numbered date in the month having 31 days. The number of persons have event 

before D is same as the number of persons have event after A. One person has 

event between A and C. F has event before C. B has event just before E.

छ: व्यनि P, Q, R, S, T और U के पास अिग-अिग महीिों की 7 और 12 तारीिों अथाषत 

जिवरी, फरवरी और माचष की अिग-अिग तारीिें हैं। D के पास 31 नदिों वािे महीिे में सम 

संख्या वािी तारीि पर घटिा ह।ै D से पहिे घटिा वािे व्यनियों की संख्या, A के बाद घटिा वािे

व्यनियों की संख्या के समाि ह।ै A और C के बीच एक व्यनि की घटिा ह।ै F की C से पहिे घटिा 

ह।ै B की घटिा E से ठीक पहिे ह।ै



Six people P, Q, R, S, T and U have 

events on different dates 7th and 

12th of different months i.e. January, 

February and March. D has event on 

even numbered date in the month 

having 31 days. The number of 

persons have event before D is same 

as the number of persons have event 

after A. One person has event 

between A and C. F has event before 

C. B has event just before E.



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.

एक फुटबॉि टीम के बारह सदस्य दो समािांतर पंनियों में 

प्रत्येक में छह व्यनि इस प्रकार बैठे हैं नक आसन्ि व्यनियों के 

बीच समाि दरूी ह।ै पंनि-1 में U, V, W, X, Y और Z बैठे हैं 

और उि सभी का मिु दनिण की ओर ह।ै पंनि-2 में A, B, C, 

D, E और F बैठे हैं और उि सभी का मिु उत्तर की ओर ह।ै 

इसनिए दी गई बैठिे की व्यवस्था में एक पंनि में बैठे प्रत्येक 

सदस्य का मिु बाहरी पंनि के दसूरे सदस्य की ओर ह।ै X, V 

के दायें से तीसरे स्थाि पर बैठा ह,ै या तो X या V पंनि के 

अंनतम छोर पर बैठा ह।ै वह व्यनि नजसका मिु V की ओर ह,ै 

E के दायें से दसूरे स्थाि पर बैठा ह।ै B और F के मध्य दो व्यनि

बैठे हैं। ि तो B और ि ही F पंनि के अंनतम छोर पर बैठे हैं। B 

के निकटतम पडोसी का मिु उस व्यनि की ओर ह ैजो U के 

बायें से तीसरे स्थाि पर बैठा ह.ै W और Y एक दसूरे के 

निकटतम पडोसी हैं. C, A के बायें से दसूरे स्थाि पर बैठा ह।ै Y 

का मिु D के निकटतम पडोसी की ओर िहीं ह।ै 



Twelve members of a football team are sitting in two 

parallel rows containing six people each, in such a 

way that there is an equal distance between adjacent 

persons. In row-1 U, V, W, X, Y and Z are seated 

and all of them are facing south. In row-2 A, B, C, D, 

E and F are seated and all of them are facing north. 

Therefore in the given seating arrangement each 

member seated in a row faces another member of the 

outer row. X sits third to right of V, either X or V 

sits an extreme end of the line. The one who faces V 

sits second to right of E. Two people sits between B 

and F. Neither B nor F sits at an extreme end of the 

line. The immediate neighbor of B faces the person 

who sits third to left of U. W and Y are immediate 

neighbors of the each other. C sits second to the left 

of A. Y does not face the immediate neighbor of D.



D is husband of E. F is grandchild of D. D has only one child (son), 

who is married to H's child. H has only two children one son and 

one daughter. L is grandson of H. G is brother-in-law of son of H. I 

and J are children of H. K is married to the son of H. L is son of I's 

brother.

D, E का पनत ह।ै F, D का पोता ह।ै D का केवि एक बच्चा (पतु्र) ह,ै जो H के बच्च ेसे 

नववानहत ह।ै H के केवि दो बच्च ेहैं एक बेटा और एक बेटी। L, H का पोता ह।ै G, H 

के पतु्र का बहिोई ह।ै I और J, H के बच्च ेहैं। K का नववाह H के पतु्र से हुआ ह।ै L, I के 

भाई का पतु्र ह।ै

If H is married to M then how is H related to F? / यदि H, M से वििादित िै, तो H, F से किस प्रिार संबंधित िै?

A. Paternal Grandfather B. Paternal Grandmother 

C. Maternal Grandfather D. Maternal Grandmother 

E. Either (C) or (D)



D is husband of E. F is grandchild of D. D has only one child (son), 

who is married to H's child. H has only two children one son and 

one daughter. L is grandson of H. G is brother-in-law of son of H. I 

and J are children of H. K is married to the son of H. L is son of I's 

brother.



Six members Z, C, E, F, H and B are born in six different months (of the same year) namely January,February, 

April, May, July and September, but not necessarily in the same order. Each of them born in different days 

namely Monday, Tuesday, Wednesday, Thursday, Friday and Saturday, but not necessarily in the same order. F 

born in a month which has only 30 days. Only one person born between the one who born on Friday and F. The 

one who born on Monday is immediately before the one who born on Saturday. The one who born on Tuesday 

neither born in the month which has 31 days nor in the month which has 30 days. Only two persons born 

between the one who born in Tuesday and B. C born immediately after B. Z born before E, but not immediately 

before E. H born on Thursday.

छह सदस्य Z, C, E, F, H और B छह अिग-अिग महीिों (एक ही वर्ष के) अथाषत ्जिवरी, फरवरी, अप्रिै, मई, जिुाई और नसतबंर में 

पदैा हुए हैं, िेनकि जरूरी िहीं नक इसी क्रम में हों। उिमें से प्रत्येक का जन्म अिग-अिग नदिों अथाषत सोमवार, मंगिवार, बधुवार, गरुुवार, 

शकु्रवार और शनिवार को हुआ ह,ै िेनकि जरूरी िहीं नक इसी क्रम में हो। F उस महीिे में पदैा होता ह ैनजसमें केवि 30 नदि होत ेहैं। शकु्रवार 

को जन्म िेिे वािे और F के बीच केवि एक व्यनि का जन्म हुआ ह।ै वह व्यनि नजसका जन्म सोमवार को हुआ ह,ै वह शनिवार को जन्म 

िेिे वािे के ठीक पहिे ह।ै मंगिवार को जन्म िेिे वािा ि तो उस महीिे में पदैा हुआ ह ैनजसमें 31 नदि हैं और ि ही उस महीिे में पदैा हुआ

ह ैनजसमें 30 नदि ह।ै मंगिवार को जन्म िेिे वािे और B के बीच केवि दो व्यनियों का जन्म हुआ। C का जन्म B के ठीक बाद हुआ। Z 

का जन्म E से पहिे हुआ, िेनकि E के ठीक पहिे िहीं। H का जन्म गरुुवार को हुआ।



Six members Z, C, E, F, H and B are born in six different 

months (of the same year) namely January,February, 

April, May, July and September, but not necessarily in 

the same order. Each of them born in different days 

namely Monday, Tuesday, Wednesday, Thursday, Friday 

and Saturday, but not necessarily in the same order. F 

born in a month which has only 30 days. Only 

one person born between the one who born on 

Friday and F. The one who born on Monday is 

immediately before the one who born on 

Saturday.The one who born on Tuesday neither 

born in the month which has 31 days nor in the 

month which has 30 days. Only two persons born 

between the one who born in Tuesday and B. C 

born immediately after B. Z born before E, but 

not immediately before E. H born on Thursday.



A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of them sit at 

four corners of the square while four sit in the middle of each of the four sides. Those who sit at 

the four corners faces outside while those who sit in the middle of the sides face the center of the 

table. D sits third to the left of G. E sits third to the left of C. C does not sits any of the corners. 

Only one person sits between C and F. Only one person sits between D and F. A is an immediate 

neighbor of F but not an immediate neighbor of C. The number of the person sitting between B 

and F is same as the number of the person sitting between D and C.

A, B, C, D, E, F, G और H एक वगाषकार मेज के चारों ओर इस प्रकार बैठे हैं नक उिमें से चार वगष के चार कोिों पर 

बैठे हैं जबनक चार चार भजुाओ ंमें से प्रत्येक के मध्य में बैठे हैं। जो िोग चारों कोिों पर बैठे हैं उिका मिु बाहर की ओर 

ह ैजबनक जो भजुाओ ंके बीच में बैठे हैं उिका मिु मेज के कें द्र की ओर ह।ै D, G के बायें से तीसरे स्थाि पर बैठा ह।ै E, 

C के बायें से तीसरे स्थाि पर बैठा ह।ै C नकसी भी कोिे में िहीं बैठा ह।ै C और F के बीच केवि एक व्यनि बैठा ह।ै D 

और F के बीच केवि एक व्यनि बैठता ह।ै A, F का निकटतम प़िोसी ह,ै िेनकि C का निकटतम प़िोसी िहीं ह।ैB b 
B और F के बीच बैठे व्यनि की संख्या D और C के बीच बैठे व्यनि की संख्या के समाि ह।ै



A, B, C, D, E, F, G and H are sitting around a 

square table in such a way that four of them 

sit at four corners of the square while four sit 

in the middle of each of the four sides. Those 

who sit at the four corners faces outside while 

those who sit in the middle of the sides face 

the center of the table. D sits third to the left 

of G. E sits third to the left of C. C does not 

sits any of the corners. Only one person sits 

between C and F. Only one person sits 

between D and F. A is an immediate neighbor 

of F but not an immediate neighbor of C. The 

number of the person sitting between B and F 

is same as the number of the person sitting 

between D and C.



Eight persons P, Q, R, S, T, U, V 

and W were seated around a 

circular table facing the centre .

• U was 2nd to the left of P and 

faced V 

• R was 2nd to the right of T who 

faced S

• Q was 3rd to the left of W

• P was not neighboring T

आठ व्यनि P, Q, R, S, T, U, V और 

W एक वतृाकार मेज के चारो ओर कें द्र 

की ओर मिु करके बैठे थे। 

• U, P के बायें से दसूरे स्थाि पर था 

और उसका मिु V की ओर था 

• R, T के दायें से दसूरे स्थाि पर था, 

नजसका मिु S की ओर था 

• Q, W के बायें तीसरा था 

• P, T . का प़िोसी िहीं था



Eight persons P, Q, R, S, T, U, V 

and W were seated around a 

circular table facing the centre.

• U was 2nd to the left of P and 

faced V 

• R was 2nd to the right of T who 

faced S

• Q was 3rd to the left of W

• P was not neighboring T



Eight persons P, Q, R, S, T, U, V and W are sitting around a square 

table with four of them sitting at the corner and rest sitting at the 

middle of the sides of table. All of them are facing towards the centre of 

the table . One person sits between P and V. Two persons sit between V 

and S. P sits at the corner of the table. U sits to the immediate left of T. 

R sits second to the right of T. Q sits to the immediate right of R. W 

does not sit to the immediate left of P.

आठ व्यबि P, Q, R, S, T, U, V और W एक वग ाक र मेज के च रों ओर  ैठे हैं, 

बजिमें से च र कोिे पर  ैठे हैं और शेष मेज की भुज ओिं के मध्य में  ैठे हैं। उि सभी क 

मुख मेज के कें द्र की ओर है। P और V के  ीच एक व्यबि  ैठ  है। V और S के  ीच 

दो व्यबि  ैठे हैं। P मेज के कोिे पर  ैठ  है। U, T के ठीक   यें  ैठ  है। R, T के द यें

से दूसरे स्थ ि पर  ैठ  है। Q, R के ठीक द यें  ैठ  है। W, P के ठीक   यें िहीं  ैठ  है।



Eight persons P, Q, R, S, T, U, V and W are sitting around a square table with 

four of them sitting at the corner and rest sitting at the middle of the sides of 

table. All of them are facing towards the centre of the table . One person sits 

between P and V. Two persons sit between V and S. P sits at the corner of the 

table. U sits to the immediate left of T. R sits second to the right of T. Q sits to 

the immediate right of R. W does not sit to the immediate left of P.



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.

एक स्टोर में, 8 बिब् े- A, B, C, D, E, F, G और H एक के ऊपर एक रखे गये हैं; िेबकि जरूरी िहीं बक इसी 

क्रम में हो। प्रत्येक  ॉक्स पर 1 से 8 तक एक सिंख्य  बिखी गयी है। ििं र 1 शीषा पर है, सिंख्य  8 स से िीचे है और 

इसी प्रक र अन्य बिब् े भी रखे गए हैं।

 ॉक्स E को  ॉक्स H के िीचे रख  गय  है।  ॉक्स A ििं र 7 पर है।  ॉक्स F ििं र 5 पर िहीं है।  ॉक्स B ििं र 4 

पर है।  ॉक्स D य   ॉक्स C ििं र 1 पर है।  ॉक्स G ििं र 3 और 5 पर िहीं है। ।  ॉक्स F ििं र 2 और 3 पर िहीं है| 

 ॉक्स D ििं र 8 पर है।



Q. Study the following information carefully and answer the questions given below:

In a General Store, 8 boxes - A, B, C, D, E, F, G and H are placed one above another but not 

necessarily in that order. Each box has a number written on it from 1 to 8 but not necessarily 

in the same order. Number 1 is at the top, number 8 is at the bottom and others accordingly.

Box E is placed below box H. Box A is on number 7. Box F is not on number 5. Box B is on 

number 4. Either box D or Box C is on number 1. Box G is not on number 3 and 5. Box F is 

not on number 2 and 3. Box D is on number 8.



F, E, D, C, B and A are arranged in the top to bottom. Each box contains different colour Green,

Pink, Violet, White, Black and Blue, but not necessary in the same order. Only three boxes kept 

between D and the box which contains Pink. Both the box which contains Violet and the box 

which contains White kept below to C. Only three box kept between E and the box which 

contains Black. As many boxes between F and E as between E and D. A kept immediately 

above to the box which contains White. Only one box kept between the box which contains 

Violet and the box which contains Blue. The box F contains Blue color .

F, E, D, C, B और A को ऊपर से िीचे तक व्यवनस्थत नकया गया ह।ै प्रत्येक बॉरस में अिग-अिग रंग होता ह,ै हरा 

गिुाबी, बैंगिी, सफेद, कािा और िीिा, िेनकि आवश्यक िहीं इसी क्रम में हो। D और गिुाबी वािे नडब्बे के मध्य 

केवि तीि नडब्बे रि ेगए हैं। दोिों बॉरस नजसमें बैंगिी ह ैऔर नजस बॉरस में सफेद ह ैवह C के िीचे रिा गया ह।ै E 

और उस बॉरस के बीच केवि तीि बॉरस रि ेगए हैं नजसमें कािा ह।ै F और E के बीच उतिे ही नडब्बे हैं नजतिे E और 

D के बीच हैं। A उस नडब्बे के ठीक ऊपर रिा ह ैनजसमें सफेद रंग ह।ै बैंगिी वािे नडब्बे और िीिे रंग के नडब्बे के बीच 

केवि एक नडब्बा रिा गया ह।ै नडब्बा F में िीिा रंग ह।ै



F, E, D, C, B and A are arranged in the top to 

bottom. Each box contains different colour

Green,Pink, Violet, White, Black and Blue, 

but not necessary in the same order. Only 

three boxes kept between D and the box 

which contains Pink. Both the box which 

contains Violet and the box which contains 

White kept below to C. Only three box kept 

between E and the box which contains Black. 

As many boxes between F and E as between 

E and D. A kept immediately above to the 

box which contains White. Only one box kept 

between the box which contains Violet and 

the box which contains Blue. The box F 

contains Blue color.



L, N, R, T, U, V, W, X, Y and Z live on five different floors from one to five. Ground floor is

number 1 and top floor is number 5. There are two flats on each floor flat-1 is west of flat-2 from such that flat-1 

of third floor is exactly above flat-1 of second floor which is exactly above flat-1 of first floor and other flats are 

placed in the same way. R lives in an even numbered floor. X lives just above U in a flat numbered 2. R does not 

live on the same numbered flat on which X lives. W lives just above Y who is just above to N in same numbered 

flat. Y does not live on the same floor on which X lives. V lives below to U in same numbered flat. T lives left to 

Z in same floor. Z lives above to L in same numbered flat. The number of the floor

below to L is the same as the number of floor above T.

L, N, R, T, U, V, W, X, Y और Z एक से पाचं तक पाचं अिग-अिग मंनजिों पर रहत ेहैं। ग्राउंड फ्िोर िंबर 1 ह ैऔर टॉप फ्िोर िंबर 

5 ह।ै प्रत्येक मंनजि पर दो फ्िैट हैं फ्िैट -1 फ्िैट -2 के पनिम में इस तरह से ह ैनक तीसरी मंनजि का फ्िैट -1 दसूरी मंनजि के फ्िैट -1 के

ठीक ऊपर ह ैजो नक ठीक ऊपर ह ैपहिी मंनजि के फ्िैट -1 और अन्य फ्िैटों को उसी तरह रिा गया ह।ै R एक सम संख्या वािी मंनजि पर 

रहता ह।ै X एक फ्िैट संख्या 2 में U के ठीक ऊपर रहता ह।ै R उसी संख्या वािे फ्िैट पर िहीं रहता ह ैनजस पर X रहता ह।ै W, Y के ठीक 

ऊपर रहता ह ैजो समाि संख्या वािे फ्िैट में N के ठीक ऊपर ह।ै Y उसी मंनजि पर िहीं रहता है नजस पर X रहता ह।ै V, U के िीच ेसमाि 

संख्या वािे फ्िैट में रहता ह।ै T, Z के बायें से समाि मंनजि पर रहता ह।ै Z समाि संख्या वािे फ्िैट में L के ऊपर रहता ह।ै L के िीच ेति 

की संख्या T के ऊपर ति की संख्या के समाि ह।ै



L, N, R, T, U, V, W, X, Y and Z live on five different 

floors from one to five. Ground floor is

number 1 and top floor is number 5. There are two flats on 

each floor flat-1 is west of flat-2 from such that flat-1 of 

third floor is exactly above flat-1 of second floor which is 

exactly above flat-1 of first floor and other flats are placed 

in the same way. R lives in an even numbered floor. X 

lives just above U in a flat numbered 2. R does not live on 

the same numbered flat on which X lives. W lives just 

above Y who is just above to N in same numbered flat. Y 

does not live on the same floor on which X lives. V lives 

below to U in same numbered flat. T lives left to Z in same 

floor. Z lives above to L in same numbered flat. The 

number of the floor

below to L is the same as the number of floor above T.




